
Analyze Word Problems: 
Choose an Operation
Choose the operation for each problem. Then solve 
each problem.

Jeffrey mows lawns and trims bushes during the spring. 
He charges $8 for each lawn mowed and $4 for each row 
of bushes he trims.

1. How much more money does Jeffrey 
make if he mows 1 lawn than if he trims 
1 row of bushes? ______________________

2. a. Jeffrey earned $20 for the bushes he 
trimmed. How many rows of bushes 
did he trim? ______________________

b. How much money did he make 
mowing 5 lawns? ______________________

c. How much did he earn in all? ______________________

Write the operation needed for each problem. 
Then solve each problem.

3. Martina delivers newspapers to 60 houses 
on her route. She had so many customers, 
she decided to give 12 customers to her 
brother. To how many houses does Martina 
deliver now? ______________________

4. Louisa charges each customer the same 
amount to rake leaves. In one week, 3 of 
her customers paid her $18.75. How much 
did each customer pay? ______________________

5. Steven drinks 3 glasses of water a day. 
How many glasses of water does he drink 
in a week? ______________________

Name  _________________________________________________
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6 Use with pages 20–21.
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1-6


	key: 


